oS 2dA «C = 90° & i, C

sin A 4 cos A 9] Zk-&? A
17 17 7
Y3 953

AC=V132-52=12
12

5 17
S 1 = — — = — O|T
U:]—ﬂ- :I SlnA+COSA 13 + 13 13 ] °
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3. /C 7} AR AZMt7tY ABC oA AB = 2, BC =12 & o,

V2 1+ 2 1+ V3
®_1T2x/§ ®_3\/% @_ !
_|_
- © -
AC=+V22-12=13

(sin B+ cosB) (sinA — 1) = (\/7§ + %) (% - 1)
V3




o2 2198} 22 AABC oA /B =85°, /C = A
65°, BC =12 & ©|, AB 9] 4o|g A5 o
AR 2Fe) 742 FSFA? (T, sin 65 ° = 0.9063)

@ 20.153 @21.751 3 22.482
@ 23.581 ® 24.372

B

/A =180°-(85°+65°) =30°
BH = 125in65° = 10.8756

BH
sin 30 °

. AB= = 10.8756 x 2 = 21.7512




@s:1

1
AXTX==T
g XAXTX o

1
@S:§x4x3:6

1
@S:§x4x3:6
V3

1

(DS:§x6x4x??:6V§:KBW
1 3 253

@S::§x5x5x%§::—£C:1Q&5




6. o5 1322 ASHA oA 2] HB D

— C
o} W o] tjZtA HF 7} o] = /BHF 2 |
A7E x & & 9, sin x+ cos x & Zr2? A i B
I ;
' 4
/Jq$777j177 lG
B 2
\‘*3"/ F
6 V17 534 5 3V34 4+ 2417
17

17 17
234 +3V17 234 - 317
@ o T

B ,

HF = V32 + 32 =32,
BH2 = (3V2)2 + 42 = V342 o]E 2

BH = V34

cosinx = i = ig_z;
V34 17

S.COSX = ﬂ = iﬁ
V34 17

2«/3ﬁ+3«/ﬁ_ 234+ 3V17
17 17 17

sin x 4 cos x =




7

I

oly=2x+4 9] 1%

63:

R
94

94

=
=

3} o)=L 7te] 27]

£l

%

9

& o, sina - cosa 2 Fk

S|

@

e
® ©

SRR
@ ©

B

71-&71)| °|B& tana = 2 ©|t}.

= 120 =25

VET 22

)
=

2
I
2|

ol

T oo
S ol
2w &
T

S >

g 3

< |
..O’ S

(o)

N ho g
11 I -
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o 5 B




ohg T A0 3hE A4 ) A7k ek Ziole 4tz
< vhaA vebd 2 Bl H BE 12H?
Zte sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1,1918
70° 0.9397 0.3420 2,7475
89° 0.9998 | 0,0175 | 57,2900
H7]

@ sin20° = 0.9848
© tan50° = 0.6428

1
@) 3 cos70° = 0.8192

© cos45° =0.7071

® 2sin10° = 0.3420

® 3tan45°=3

va0 066 Goe oee 660

B

@sin 20 ° = 0.3420
© tan50° = 1.1918

®2sin10° =2x0.1736 = 0.3472
1 1
@5 cos70° = 3 % 0.3420 = 0.1710




o 19H9] AABC ol &0l h & F A
ShH?

@25 @43 @)pvE @3V  O5v2

B ‘

h

1 A - =

Jol A V3r + 7 A
20,%%:20

.~.h=20><i:5\/§

43




10. o2 193} o] ¥kx]E-2] Ao]7} 7em D
el ¥ O of YHsH= A2t ABC ©f| 4]
(DAC = 105° & w, AOBC 2] o]

A 1 °
=7 ‘% 05
B C
4
@ %sz ) %Cm2 ©) _9cm2
49v2
@ 494x/§cm2 6 93\/' o

Y37 /BAC = 75° o|B& $412} /BOC = 150° o]t}

wr2bA ABOC = % X TX7xsn30° = %(cmz) o},




11.

x of TSt o)A A A ax? —2x +8 =0 9] §F 2¢] 28in90° — 3 cos0°

d o, a o gh= 5HE?

@-0 @ -2 @ ® 6

O AA ax? -2x+8 = 0 9 x = -1 2 YA, ax (-1)2 -
2x(-1)+8=0
a+2+8=0,a=-10




12, thg 29 go] AW RHH 10m Eole ik 7178 5
A, BolA Eelek B 2Es} 242} 507, 550 2 o, kg Atz
olgste] £ A A, B Aol9] A

B
i o

—_

2t sin cos tan
35 0.5736 0.8192 0.7002
40 0.6428 0.7660 0.8391

O 7.002m @ 8.192m ® 14.088m
@15.393m ® 15.852m

AH = 10 x tan 40° = 8.391( m)
BH = 10 X tan 35° = 7.002(m)
e AH + BH = 8.192 + 7.002 = 15.393(m) ©]t}.




13. oh& Z19elA AD 7 AB o S w, CD ©] deol=?

O V3em @ 242cm ® 243cm
(@)2 V7em ® 2+1lem

/A = 30° °]E2 AB = 8 x cos 30° = 43 o]t}

BC = 8 xsin30° = 4 ©]|22 ACDB ¢ metrgA A=
Hgatm

CD = /(2V3)" +42 = Va8 =27




14.

th2 2T} -2 AABC 2] 9HY 0 94 /BOC = 120°, zOBC =6
o|H

L)

cos @ x cos A + sin 6 x sin A 2] 327

A

LN
N

@\/§ ®?+1
-1 ® V3+1

/BOC_= 120° °|B& /BAC = 60°, £OBC = 6 = 30° (-
5.0ptBC 2] Y57

(%M):‘%g +%><‘/7§ - ‘/75 olct.

N | =

X




15. oh2 2™ 22 AABC oA ot |
o] ol 40% Zo]1, thE gt H o
Zol= 40% Sl A2e 4H2Ha
A’BC/ % \?_]-_% H’H, AA/BC/ 9/] Iﬂo A'
o] Mot=?
@O Al
@ 4% &°l=d B
® 4% =oldtt
@16% Eadi=le)
® 16% =oldtt

~&B

AB=x BC=yatd

60 3
,B = — X = —
A 1007~ 5"
140 7

1000 T 5

wrbA AABC 9] Hol&
AA'BC 9] Hol&=

xysin B ©]1,

DO | =

7 21 1
éxgxx gyXSiIlB = —xixysinB

= —AAB
25AA C

TIHBE AABC =
1 = ol
AABC 9] 5—5 x 100 = 84 (%) °|2& 16% =°]=tt.




